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The modulus and amplitude of & 4’ are

z T 3z

a)’eg,% _ ble® = c)e?,-%l— . -

nzx - nz 1 y : -
Z, = cos = ot Sinas then z375 . . ... Zz is a) 1 b) - 1 c) i d) — i
If A# 0 then the system is
a) consistent and has unique solution b) consistent and has infinitely many solution
¢) Inconsistent d) Either consistent or inconsistent
Which of the following statement is correct regarding homogeneous system %

a) always inconsistent b) has only ftrivial solutions

-¢) has only non-trivial solutions d) hias only trivial solution anly if rank of the
coefficient matrix is equal to the number of unknowns :
(AT)y-1 is equal to a)A~1 - b) AT £ o)A d) (a—")T
- v - 3 e ab c b _|ac
If ae™ + beY =c, pe* + ge¥ =dand Ay = p ql* 827 |d g| ' A3T [p a then the
valde of (x,y) is : : ;
A5 A As Az Ay Ay Ay
a) e A_,J b) {Iog A , log 1] c) (IOQ oy , log 2) d) log A, , log 8
If Ais a square matrix of order n then |adj A] is
a) |A]2 A, - - Hey A d) JA|
If A'is a scalar matrix with scalar 3 of order 3 then A~! is
1 3 1 1
a)-§I b)“z":,'I C)EI'- d) 31

If p(A) = p(AB) = the number of unknowns then the system is
a) consistent and has_infinitely many socultion
b) consistent and has a unique socultion e : % S s

- ¢) consistent

d) inconsistent

1
=50 :
2 5 : sl 10 =5 5 0
If A= 1 3| then (adj A) A = a) 0 % b) 0 1 c) 0 _5 d) 05
The directrix of parabola y2 = x + 4 is :
15 ; 15 17 : 17
a)x=-4— b)x=——; c)x=—T d)x-T.
23

The length of the semi major and the length of minor axis of the ellipse % + T%é' =1 are
a) 26,12 = h) 13,24 c) 144,169 d) 13,12
The line 4x + 2y = ¢ is a tangent to the parabola y2 = 16x then c is
a1 b) — 2 c) 4 d)y— 4
The asymptotes of the hyperbola 36y2 — 25x2 + 900 = 0 are :

6 5 36 25
a) s £ © X DY =+ = X Gy Y = s X Ay s & o X
The equations of the major and minor axis of 4x2 + 3y2 = 12 are
a)x =8 ,y=2 b)x=0,y=0 cyx=-43,y=-2 _dy=0,x=0
The product of the perpendicular drawn from the point (8,0) on the hyperbola to its asymptotes
S YR 25 576 25
i 3) 576 b) 25 °) 2 S)ie

: o 2

The chord of centact of tangents from any point on the directrix of the ellipse = + -E; =1
passes through ifs a) vertex b) focus c) directrix d) latusrectum

One of the foci of the rectangular hyperbola xy = 18 is

- a) (6,6) b) (3,3) c) (4,4) d) (5,5)



